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15) The acceleration of an object is given by @) =121N21+1, mZisec. Find the equation of
velocity in m/sec if the initial velocity of the object (t = 0) is 20 m/sec - 2,4 72 _2 (0t + 1% 8
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16) The equation of acceleration of an object is given by ( +2z) in ft/min”. Determine
the equation of velocity if we know that after 5 min the velocity is 15 ft/min?

O < \a20
V(‘\ z - o ———— - -—‘—;r
2% (ak2Y)

Bvw: Arn AMnnira A Danianinia



L1NITY §-2 - CHANGE 0F yvARVABLE 2 i @

Tecnoldgico
—2—\315- 5 _—‘——"—_‘4(~“’ZV’1 deMn:megrr'e}.
1. X'Zx xez dx = 2(v-2) U © :fﬁu"1_4u‘lz = S~Zuu¢ S0 Sl 3 + Preparatoria
U= xtg *x= u-2
40= 14y dy=-dU
D o =
2- 15 s 2) SIET - P
U= S-302¥F
= —ppiX
oV
5. ) B alonix = dinp) o
0= X
ao=1 sz) B
20 (u2)> 05 qu = (st s gy 320t o -
4-3\6\(‘(3\”5“)5&:: 33(5) Us du = 3 ! iy = % 2 =
U3z SR Bg idx-do (MR MT.a0 | Sf ot 28 T
dO= 24x 3 S 3 ) 6R) 0(3) S - = " Se : g
X2 S-Oa. gt Iaos §(SELDT a --‘,\(w’-(;»—\ﬂl_ Cov4 L oi( (3 Saue .
s = > 9] by g 5-3 - = U‘) 5 —;S gy | i :
S - S(s—sxy dx= | ) B) a ( ¥) 3 a 3 Y ()3 2y-3) e
s e St e 2s-4gxaINt | =
T . : el SR L
) 130Y¥s | 4a(3+3x
= G
\2x2 T A Y '
A e T
U=4-%x3
80 - =% x2
K ; : - -
S} A G 28220307 au= 3 (207 -2 a0 F{2tnor - 20140 C
Oz 1-2¥ x= 120 g3 —
dvz~p 2 5 2 3 [2n)-2xt - 22 ) +0
w = ] = ——i e g \to. :
1- f&x‘(l-xz)“‘ ax= 8C o) U = - 7_8 e(l-0)2utav = S (2-= )@ (1+svt)4c /
U= 2-%2 W o
a0=- 21X dx= du/-9
P = d)n'%"\(Z»sxT‘ L P e e
q“L (50" o 4 s m - Ala,120  AgSuo 13424 .
a5 | ition of
i V7" 8
ermine

m ‘ \a20
- t ——
21

" Rw+ Arnv Mnnira M Danianiia




s(29% z(’z—x)f ac

X =02

o- ¢ ﬂ\(l-x)’d" = (22-Hr ) (Y3 "W = - lg et von @ =
2~

U:.
Ay -1 dx=_~d)

i fort - *mray 9%z 6(vx302- 0¥ T -

& (34 3%) ' Vs .
3 5

©

x Yy /3
4(%(5)(‘) 1z + 44 (2 +3%) +G
2

U= FEde ot e Ax =
=3 N :

2 4=S\ i - M s e 22
|2-_J 3cJ 2k ¢S dx= a0% ) 'z 3 Zg T 3 U
O= 28 . ¥y OS e Ao o
dp=2 = Z
7_xdx ) A e\ 20 -
2 =——axz- 2(%F -3 = R
H'.Y (2x t4)? i = g% 553 100
QSR =0 L iee
= 3 3 i

w ) V2 daxe= Cot2-0 ()2 -cv= | (peryoz = “S'U"’ +0ln = R
Q=7 =¥ ¢ v=OA o
d0= <t dy- o
1
s e VET s (paea o PEEDE oy € (2 e - 202000 4 200¢
Uz 24¥1
duz2

- Suu_ﬂ‘“"’ 20(45) (w2 ? Y = 3{eou-20)07% -

4§ 200-t- 2003 <

& -

U=1424 =z V-1 df=dv e - 1920
Pt —2 o = g o — X —
402 2 V() 1e24 (€2 12\




